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That means A11, A1z, A1, A22 represents a 4xa matrix and B11 and B21 represents a 4x1 matrix.
Now multiplying the representative matrix, we now have:

AllBll + AIZB21
A2lBll + A22BZI

This means a 2x1 matrix and, substituting the

entries for 4.,B,,+4,B,, and 4, B,, + 4,,B,, which has a 4X1 entry

each. In doing so, you arrive at an 8X1 matrix, since an 8x8 matrix
multiplied by a 8X1 matrix gives you an 8X1 matrix.

This method is called Partitioning, it is used in multiplying an nxn
matrix with more than 3x3 entries.
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